
Math141 Exam 4 Problem 2

October 2014
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Solution (Ratio Test) The test is worth 15 points.
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(8 points) Now check the endpoints, x =
√
3, x = −

√
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This diverges by Nth term divergence test.
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This diverges by Nth term divergence test.
(2 points) The interval of convergence is
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Solution (Root Test) The test is worth 15 points.
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(8 points) Now check the endpoints, x =
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3, x = −
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This diverges by Nth term divergence test.
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This diverges by Nth term divergence test.
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The series is absolutely convergent on the interval of convergence.
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